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7932 19 v NN — Come and hear; the miwn states: And the same rule
applies by a garden.

Overview

The X773 cites from the 71wn the case of '711°32 121 to prove that P17 7w 7°X7 P17, for
the 71wn says that by a 711’3 too, one must erect a 77¥°1n. However a closer reading of
the 7wn not only negates the proof, but may even prove the opposite. The 7Iwn
actually states IMX PR T2 WTIW DWPR O3 19, indicating that the obligation to
build a wall by a 713 is limited only to those places where the custom is to build
dividing walls'. This would indicate that where there is no prevailing custom, one is
not required to build a wall. This would seem to indicate that P 7°nw X? R P,
the exact opposite of what we are trying to prove’. moo1n will answer this question.

“MRP 93777 J°pon PY — later the X7»3 concludes that this is what the mwn intended
to say when it wrote "M 1271 N2 R DWPR 7132 1915 namely -

anv® 71932 121 — and similarly, an unclassified garden; a place where there is (as yet) no
prevailing custom whether to fence gardens or not. Such a garden -

T M7 e 2P — is like a place where the custom is to fence it. The mwn states
that a ono 1% requires a wall just as a N2 W DP» does.

PIIT MR ORT PIITT W P 199 — therefore it is a proper inference, from the

statement 771°32 127, that P17 79R® 7989 P97, The mwn cannot be discussing a case where
they agreed to build a wall; in that case they would be obligated to build it even 2737 1371 Xow DIpna.
The 71wn is therefore teaching us that and 71°32 one is obligated to build a wall even if they did not
initially agree to build a wall. This proves that pr7 7w 7°X7 . Otherwise; why should there be
an obligation to build a wall in a 7713 ano, without a prior agreement?!

Summary
The proof from 71132 121 that Pri 7w 7°87 21771 1s based on the conclusion of the X773,

that when the mwn states 121 73°32 121 it means the following. A 71°3 onO requires a
dividing wall just as it is required in a 737 7w 2pn. The requirement for a wall by
a 11" ono can seemingly only be on account of X7 pi.

Thinking it over
1. Is the word 71132 121" understood differently in the original interpretation of the
mwn as opposed to the final interpretation as cited by m»oIn?

2. What is the status of the 7% in our 7Iwn; is it a 732 XMW 2P, a XKW NI DIPA
1722, or a ond "x¥n? What would be the meaning of "1 721 n12% w»mw 0pn' mean?

! At this point, Mmoo will perhaps maintain that by a 7¥m as well, if it is a 2173 27w Dp», one is obligated to build a
wall even according to the P 7nw R 7°81 2171 7", According to the X1pon of N0, however, it is not necessary to
make such an assumption.

*Itis nota X°wp on the 7"n that 7" 7"7, for he can maintain that by a 71°) the 77°X7 17 is less than in a 7x7; therefore the
gbligation to build a wall in a 712° is only in a 77 WIIW DPnA.
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